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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1.  Temelf 9agem 94 UYE 95l W ATHih 3Afard: faw |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. T 9 % o<t 9 st ®U=R § forelt g & qfe / TR / faireny® g1 W
o=t aTo % WA 1 el A

If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should be
treated valid.

3. uft v i ¥
All the questions are compulsory.
4.  TUH Y h1 I I S ST-YfEdent | 71 fad |
Write the answer to each question in the given answer-book only.
5. o0y & tH ¥ Afusw guE i arer am €, 39 Geft 9rh 1 T Th WY gaq
ford |
For questions having more than one part carrying similar marks, the

answers of those parts are to be written together in continuity.
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6. UYT SR 1% Ui W (i, ii, iii, ivddl v ) § | YUk UM ok I ok GR

fomed (o1, &, WUd ) ¥ | G foshed 1 STRIGR ITR-Yieqent § @R
qrferent SRR faTd :

There are five parts ( i, ii, iii, iv and v ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

9 shiich TEl ST T HHTRT
Question No. Correct letter of
the Answer

1. (i)

1. (ii)

1. (iii)

1. (iv)

1. (V)

1. () 9HafAfHagemda®
(37) sirg=fn () SH=RE
(|) (37) T (&) <t (%) T G +E =T |
Manmade information system is
(A) Formal (B) Informal
(C) Both (A) and (B) (D) None of these. 1
(i) TrI=or yomelt &1 @R ®
(31) 3T (9) &A8eye
(®) ufshan () TH I |
The function of control system is
(A) input (B) output
(C) processing (D) all of these. 1
(ili) TEAH WF Yol it §

(1) el fpsron = (3) Ifea TrsH gEae
(W) dfrareTs germ (37) T A= T |

Middle level management is concerned with
(A) management control information

(B) strategic planning information

(C) operational information

(D) none of these. 1
(iv) fofa o & fau ser g =ifen

(37) WE whwA g () qoid: s

(®) (31) an (&) <t (I) =T q = =T |
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10.

11.

12.

13.

14.

15.

16.

3

For taking decisions, data must be

(A) processed correctly (B) fully accurate

(C) both (A) and (B) (D) none of these. 1
v) D.S.S.FHFHEHHD wFmaAR ?

(31) T () fol

(9) v (3) =9 9 *IE &I |

What stands for 'D' in reference of D.S.S. ?

(A) Data (B) Decision

(C) Direct (D) None of these. 1
TAFNT ?
What is processor ? 2
HEEAT T8 i afidfed shifse |
Define structured design. 2
ST ! YR IS |
Define organisation. 2
€lo THo THo ! YRYIMYT HIfST |
Define D.S.S. 2
Teh T3 I AN HIA o IAT F ST F M9 1 qHerd § 2
What do you mean by post-implementation review of a system ? 2
THoSTEoTHo o FA-FI1 AN § ? I AR A Farsy |
What are the benefits of M.I.S. ? Write any four benefits. 2
Tk YorTed! o fafast qel sl 989 § 9Aemsy |
Explain different elements of a system in brief. 3

oA RN T 2 G i faeroarshi 1 g9y |

What is information ? Explain the characteristics of information.

1+2=3
IS g 3R f7eisror g § <R Jarsy |
Differentiate between planning information and control information. 3
T G 3T 1 G & 2 GA 9 o< a3 & g7 T T HifC |

What do you mean by system ? Distinguish between open and close

systems. 1+2=3
worrelt H difeher 9 Hifde TEq w1 GHSET |

Explain logical and physical design in system. 2% + 2% =5
A1 GUTYT ok STV T AU HiTST |

Describe information gathering tools. 5

Il ST § A9 91 HHAd © 2 6ok [afe TRRI i foeR § 99Emy |
What do you mean by feasibility study ? Explain its different types in

detail. 2+5=7
THo 380 THo T § 7 THo 3o THo o fafis TRl &l THERY |

What is M.I.S. ? Explain different levels of M.I.S. 1+6=7
T TR Sita =ik & fafye =i =61 faear 9 gueET |

Explain different steps of system development life cycle in detail. 7
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